Solution of the day/ September - 9, 2019
6" Class

» Mathematics: Ans : (C)

63.9805=6><1O+3><1+9><i+8><i+5><L
10 100 10000

~.A=10,B =1,C=i,D=100,E =
10 10000

L 4A+7B+6C+D+3E =4><10+7><1+6><i+100+3><—
10 10000

=40+7+0.6+100 +0.0003 =147.6003
» Physics: Ans: (A)
» Chemistry: Ans: (D)
» Biology: Ans: (A)

7" Class

» Mathematics : Ans: (D)
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g=%: 5:16
» Physics: Ans: (B)
» Chemistry: Ans: (C)
» Biology: Ans: (B)
8" class

» Mathematics: Ans: (D)

P ++/3Q+/BR ++/15S = 1 1

1
1+4/3++5 1+\/§+x/§=(1+\/§)+\/§x(1+«/§)—
1 7 .3/3 5 2J15

1+03+5 11 11 11 11
= p++/3Q++5R +J1€S=(f—J+( 3j\/§+[;—ij\/§+[;—ﬂ\/ﬁ
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Simplify we get, =

Thus P = !
11

» Physics: Ans: (A)

» Chemistry: Ans: (A)
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Biology: Ans: (A)
9™ Class

Mathematics : Ans : (D)

If O ABCD is rhombus, square or kite the quadrilateral joining the mid points of sides of O ABCD is a

rectangle
Physics: Ans : (B)
Chemistry: Ans: (B)

Biology: Ans: (B)

10" class

Mathematics: Ans : (B)
c0s1°cos2°cos3P....... €0s179°

= c0s1°cos2°cos3°....... cos 89°.c0s90°.cos91°
Physics: Ans: (D)

Chemistry: Ans: (B)

Biology: Ans: (C)

Reasoning : Ans: (B)

cosl79°=0



